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401 A8 L 20H| 80,000 80,000
= 24,000
Al 56,000
01 Al&t] 80,000 80,000
O3 XIS OV 7S 80,000, 0002 80,000




S OE D
ZH: AEEA ZE(IELTANL/XAL A
Sl AEZAl Jlgtxd & 2g2el (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 24,000
Al 56,000
M2 AHHI(HE) (DIEHIIE}) 42,4%6 40,624 1,872
=238l 42,496 40,624 1,872
JI23Hl 42,496 40,624 1,872
201 et 3| 36,456 34,824 1,632
01 At22t2l] 31,056 29,424 1,632
ORM2S3HI(tA 2] X Htarstal
) 400,000x 123 4,800
ONSREE 7Y (=MEX S)
300,000 x 12 3,600
OEHEARID| A28 7 2 St
300,000 x12& »23] 7,200
O=gHt| 8,000& 2372« 12& 15,456
2 352484l 5,400 5,400 0
ORERs 450,000 123 5,400
202 04t 1,840 1,600 240
01 =LHOHI 1,840 1,600 240
Otla2 = 2L
20,0003 232 *43] 1,840
203 =4l 4,200 4,200
M EASHLRFAH 4,200 4,200
ORKNSgERF=AHI 350,000& * 122 4,200
HEES(HEL)(SIEMLE /TS - 21eke) 241,626 227,301 14,325
WA XIE 241,626 227,301 14,325
WA XIE 241,626 227,301 14,325
RJ1sdEs 241,626 227,301 14,325
01 JIsdEsS 241,626 227,301 14,325
OXft2teld 241,626




